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@ (@ The porlllepiped is a cube with sides of fongth 1, 50 Hs

volurae 1s 4. Thus, ke volume of Hha Yetmhedmwn is
&1 =[]
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6) (o) FALSE .
Conntecoxample * Gz N, <y, J =<2\, 1%
Ko Thiois +2¥l =4 = 2+\+) =N, but LEV.
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Counterexanple U= <1000 V=200, w= <3069
Then Tx®=0-Trx®, bt G +V.

Cc) TRUE.
Pool : T-o: V-, so TN YRTeos0=1VIIR( cos®@d,
6 is the angle btwn T ¢ H Wl cosO = I
¢ is He omge bhon V ¢ ® ‘l 13 “Z;L(Qbosé

wvll oSO .

Grid= Vald, so 1Tx L= 10wl
Wal -1l sin © = Wil sing
Il sin® = WWhsind
WUN _ sing
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’Rx’rﬁncj +he & {ocst—\w_r, we have
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WOl cosd_ sind | 5, cosd _sin@
Wil cos® sin® tos®  sin®

o, Cos@sin@ = Sindeos®

0osd sin® - Sing ws® =0
Sin(9-8)=0 = Anale  Sum Sormula
h-6=0 [Note:
§-©

Also, thot means  \Tleox® = WWileoy®
: Nl =0\ .
! So T 27 hove 4he Same lingth # make dhe Same angle

= e Grw =TxW T.% 27 Yen Ha same

with w-
plane . Also, the cross produgts being wal means thaet

O :Y must be ©ON +he faMe Side 66 5 (o atse tha
eSS ’P(Ddu&*s UDOU.\C\ be O‘pPos({_QS)_ Thus, G:-G

@ (o) (0:1,0),(0,2,5),(03,6). Since The B points owe  collinear, +hay

do not dekecwinge o umcbuz ?um .

(6) (o,1,0), L0,2.0), (1,6,0) . Since the 3 points fomn o A, Hhety
ang - Sinee ol Z-cooas

g dedermnine o uﬁ(‘c§w ?
y are 0, tha A lie3S ® the Yy -plone, SO the
Plane 15 +he Ay-plane (z=0) .

2,-0) . The 3 polnts form a A, SO ‘\*\Qu;

dekecming o um'\quL dlane .
BG = D:  PEECZ, T AX = <x-Y,
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© & »- (i=1:2) : BCZ203) - C* (-5,-13,-49)
fe = <1211y and Be - <-7,-4,-1Y
notee thot BC =-7T- ﬁ“}, <% N"b ore in Yhe Sotne ditecHof.
Thus, e 3 points ar collingan, 30 ey dont detecming )
g ua 'Pm(\g_
(Note: T Adek %r@h s one becauae Phe numbers in pE C
Seem oo langt fo ot ogccm\cxiq_\j]



